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PGT English 

Q 1). Which Indian state is planning to launch a massive jungle safari project in the Aravalli 

Hills, aimed at promoting eco-tourism and sustainable development? 

(A) Rajasthan 

(B) Gujarat 

(C) Madhya Pradesh 

(D) Haryana 

Correct Answer: (D) 

Q 2). Prime Minister Modi had accorded a ceremonial welcome during his recent visit to 

Croatia at _____. 

(A) St. Mark’s Church 

(B) Croatian Parliament 

(C) Banski Dvori Palace 

(D) Zagreb City Hall 

Correct Answer: (C) 

Q 3). Which of the following countries were recently elected to serve as a non-permanent 

member of the UN Security Council for a two-year term starting in January 2026? 

1. Bahrain, Colombia, Latvia 

2. Indonesia, Sri Lanka, Vietnam 

3. Liberia, The Democratic Republic of Congo 

(A) 1, 2 & 3 

(B) 1 & 3 

(C) Only 2 

(D) 1 & 2 

Correct Answer: (B) 

Q 4). “How many characters are there in the story?” This question is of _______ level as per 

the revised Bloom’s Taxonomy. 

(A) remembering 

(B) evaluation 

(C) understanding 

(D) application 

Correct Answer: (A) 

Q 5). Which of the following is an example of positive reinforcement as per child 

psychology? 

(A) Giving a child a time-out for misbehavior. 

(B) Praising a child for completing homework. 

(C) Removing TV privileges for poor grades. 

(D) Ignoring a child's tantrum. 

Correct Answer: (B) 
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Q 6). As per NEP 2020, what is the proposed bagless period for students in Grades 6-8 in a 

year? 

(A) 5 days 

(B) 10 days 

(C) 15 days 

(D) 20 days 

Correct Answer: (B) 

Q 7). When should a semicolon be used in a sentence? 

(A) To separate items in a list 

(B) To connect two closely related independent clauses 

(C) To indicate a question 

(D) To enclose direct quotations 

Correct Answer: (B) 

Q 8). Which one of the following is not a Phrase Preposition? 

(A) With a view to 

(B) In order that 

(C) No sooner…than 

(D) In order to 

Correct Answer: (C) 

Q 9). Which of the following is not a modal auxiliary verb? 

(A) shall 

(B) would 

(C) were 

(D) should 

Correct Answer: (C) 

Q 10). Which of the following is a characteristic of a persuasive essay? 

(A) It focuses on storytelling. 

(B) It uses emotional appeal to convince the audience. 

(C) It describes a scene in detail. 

(D) It summarizes a particular topic. 

Correct Answer: (B) 

Q 11). Which one of the following is an example of passive voice? 

(A) Let us go to watch a movie. 

(B) Call off the meeting. 

(C) Let it be cut. 

(D) You ought to respect. 

Correct Answer: (C) 

Q 12). A picture of a person or a thing drawn in such a highly exaggerated manner as to cause 

laughter is ___________. 

(A) Cartography 

(B) Caricature 

(C) Cacography 

(D) Cartoon 

Correct Answer: (B) 
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Q 13). Complete the dialogue by choosing the correct answer from the options. 

Tina: Did he come with you guys last night? 

Pat: _____ 

Tina: What did he do, then? 

Pat: He went to a concert instead. 

(A) Yes, and we had an enjoyable time together. 

(B) Actually, he didn’t as he had seen the movie before. 

(C) Why do you ask about him? 

(D) Well, I’d rather he didn’t. He did many foolish jokes. 

Correct Answer: (B) 

Q 14). While driving a car, you should not use a cell phone. 

Identify the underlined portion from the options below. 

(A) Phrase 

(B) Independent Clause 

(C) Dependent Clause 

(D) Weak Clause 

Correct Answer: (B) 

Q 15). Match the SYNONYMS and choose the correctly paired options from the below: 

1. Noble A. Serious 

2. Austere B. Genuine 

3. Illuminate C. Admirable 

4. Exemplary D. Brighten 

5. Sincere E. Honorable 

(A) 1-E, 2-A, 3-D, 4-C, 5-B 

(B) 1-E, 2-D, 3-B, 4-C, 5-A 

(C) 1-A, 2-C, 3-B, 4-D, 5-E 

(D) 1-E, 2-B, 3-D, 4-A, 5-C 

Correct Answer: (A) 

Q 16). Choose the correct meaning of the idiom underlined in the given sentence. 

A cyclist had a hair-breadth escape from a street accident. 

(A) Lucky 

(B) Fortuitous 

(C) Narrow 

(D) Quick 

Correct Answer: (C) 

Q 17). Pick the quote that best describes the theme of the story, “The Enemy” by Pearl S. 

Buck. 

(A) World belongs to humanity, not this leader, that leader or that king or prince or religious 

leader. World belongs to humanity. 

(B) You must not lose faith in humanity. Humanity is an ocean; if a few drops of the ocean 

are dirty, the ocean does not become dirt. 

(C) The purpose of human life is to serve, and to show compassion and the will to help 

others. 

(D) To deny people their human rights is to challenge their very humanity. 

Correct Answer: (C) 
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Q 18). What does the symbol /iː/ represent in phonetic transcription? 

(A) The vowel sound in “bit” 

(B) The diphthong in “go” 

(C) The vowel sound in “feet” 

(D) The voiced alveolar fricative sound 

Correct Answer: (C) 

Q 19). In creative writing, what does the use of symbolism and allegory primarily aim to 

achieve? 

(A) Provide explicit explanations to the reader 

(B) Convey abstract or deeper meanings through figurative elements 

(C) Create a straightforward and linear narrative 

(D) Minimize the need for descriptive language 

Correct Answer: (B) 

Q 20). Read the passage given below and on the basis of your understanding of the 

passage, answer the questions given below the passage. 

Artificial Intelligence (AI) represents a paradigm-shifting discipline within the domain of 

computer science, wielding a transformative influence over human-technology interactions and 

decision-making in multifarious spheres. At its nucleus, AI aspires to mimic human cognitive 

functions by endowing machines with the capability to acquire knowledge from data, 

dynamically adapt to evolving information, and execute tasks that typically necessitate human 

mental acuity, including intricate problem-solving, nuanced language comprehension, and 

intricate pattern recognition. The meteoric advancement of AI is underpinned by a fusion of 

sophisticated machine learning algorithms, intricate neural networks, and profound deep 

learning methodologies, catalyzing the technology's capacity to automate routine tasks, engage 

in predictive analytics, and even amplify creative processes across domains as diverse as 

healthcare, finance, autonomous transportation, and the realm of entertainment. However, as 

AI's evolutionary trajectory continues to unfold, it unfurls a vast expanse of potential to grapple 

with intricate challenges and unlock unprecedented opportunities. Simultaneously, it compels 

society to confront pressing ethical and societal quandaries, underscoring the imperative of a 

meticulous contemplation as we navigate the riveting odyssey of this technology into the 

forthcoming horizon. 

 

In AI, what is the primary objective when enabling machines to perform tasks? 

(A) Imitating human emotions 

(B) Replicating human intelligence 

(C) Achieving absolute precision 

(D) Enhancing machine durability 

Correct Answer: (B) 

 

___________________ 


